(010013-0)

H# L% &% N R E
A : BHE 5 K OV O e T
7 H Fii Fii Al - A i ¥ & B i & #H 1 2
DIDX 154+ 515 BHAIEE, A1000//1
BEL (A7) X
DIDX 45k N H2F IR, A1000//2
BEL (A) FE
B T H R




(010013-0)

S Ny . i.E‘
1R BMED] Lut%};EI (Ajj) IEE\J:ZI " Eﬁ#\ﬂﬁ% DIDECHEA:
A1000-0000-01

va N Hi % AL fii
UNVEEIN 5153, SX1001//1
R T (Pehb) 1Emax{t_EE20cm m3 A (RFER L)
NVAES TN 255, SX1001//2
R T (427794 7/RC-40) lgmaxft /= 20cm m3 AN (R AR L)
NS D I DXEA: 0. 5km %5354, SX1001//63
RT (2B 120 @& E+D)) UBmaxft /= 20cm m3 AN (R A A L)
ANSEEN DI DX 1. 5km 457, SX1001//64
R T (2B 120 (& 2 +D)) 1Emax{t FJE20cm m3 A (R R JLE)
AN DI DRSS 2km %5757, SX1001//65
KT (2B 120 E+D)) UBmaxft /= 20cm m3 AN (R A A L)
ASEEN D1 DX 2. 5km #6757, SX1001//66
BRE T (S B 120 (& 2 +D)) 1Emax{t FJE20cm m3 A (R R JLE)
AN DI DRSS 3km BT57%, SX1001//67
KT (2B 120 @& E+D)) UBmaxft /= 20cm m3 AN (R AR L)
ANSEAN DI DX 4km 855, SX1001//68
R T (SR 120 (2 2 +D)) 1Emax{t FJE20cm m3 A (R R JLE)
AN DI DRIk 5km %957, SX1001//69
RT (2B 120 @& E+D)) UBmaxft /= 20cm m3 AN (R A A L)
AN D1 DX 6. 5km 1055, SX1001//70
R T (2B 120 (& 2 +D)) 1Emax{t FJE20cm m3 A (R R JLE)
AJ1EA D I DX, 8. 5km 1152, SX1001//71
KT (2B 120 E+D)) UBmaxft /= 20cm m3 AN (R A A L)
AT D1 DRXIES, 11km H125%%, SX1001//72
BR T (2B 120 (& R +D)) 1Emax{t FJE20cm m3 A (R R JLE)




(010013-0)

2

A1000-0000-01

1R D2 Et%EEI (}\7‘7) lft\éfl ) Eﬁﬁ‘ﬁﬁ\% %%jg DIDXIg Ak

va N Hi % AL fii

AN DI DRXIEKS 16km %1352, SX1001//73

KT (2B 120 @& E+D)) UBmaxft /= 20cm m3 A (R A A L)
AN D I DX, 0. 5km 14753, SX1001//3

BR T (S B 140 (2 B +D)) 1Emax{t FJE20cm m3 A (R R JLE)
NS D I DB, 1. 5km %1552, SX1001//5

RT (2B 140 @& B +D)) UBmaxft /= 20cm m3 AN (R A A L)
AJ1#EAN D 1 D XIS, 2km 16752, SX1001//6

BR T (S B 140 (2 B +D)) 1Emax{t FJE20cm m3 A (R R JLE)
AJ1TEA D I DX, 2. 5km 1753, SX1001//7

KT (2B 140 @B +D)) UBmaxft /= 20cm m3 AN (R A A L)
AN D1 DX, 3kn 1875 %%, SX1001//49

BR T (S B 140 (& B +D)) 1Emax{t FJE20cm m3 A (R R JLE)
AN DI DRSS 4km %1952, SX1001//50

KT (2B 140 @& B +D)) UBmaxft /= 20cm m3 AN (R AR L)
ANSEAN DI DX 5km $52055%, SX1001//51

BR T (S B 140 (& B +D)) 1Emax{t FJE20cm m3 A (R R JLE)
NS D I DX, 6. 5km %2153, SX1001//52

KT (2B 140 @& B +D)) UBmaxft /= 20cm m3 AN (R A A L)
AN D1 DXIg4. 8. 5km 52255, SX1001//53

BR T (S B 140 (& B +D)) 1Emax{t FJE20cm m3 A (R R JLE)
AN DI DRSS 11km #52375-%, SX1001//54

KT (2B 140 @& B +D)) UBmaxft /= 20cm m3 AN (R A A L)
AT D1 DXIES; 16km H24757%, SX1001//55

BR T (S B 140 (& B +D)) 1Emax{t FJE20cm m3 A (R R JLE)




(010013-0)

2

A1000-0000-01

EARSEEUEIOR Et%EEI (}\7‘7) lft\éfl ) Eﬁﬁ‘ﬁﬁ\% %%jg DIDXIg Ak

4 g A i BN e

AJ1EA D I DX, 0. 5km 525757, SX1001//14

KT (2B 140 @B +E)) UBmaxft /= 20cm m3 A (R A A L)

ASEEN DI DX 1. 5km 265 7%, SX1001//16

BR T (S B 140 (X B +E)) 1Emax{t FJE20cm m3 A (R R JLE)

AN DI DRSS 2km 2753, SX1001//17

RT (2B 140 @B +E)) UBmaxft /= 20cm m3 AN (R A A L)

ANSEEN D1 DX 2. 5km 2857, SX1001//18

BR T (S B 140 (& B +E)) 1Emax{t FJE20cm m3 A (R R JLE)

AN DI DRSS 3km %52975-2%, SX1001//56

KT (2B 140 @B +E)) UBmaxft /= 20cm m3 AN (R A A L)

AN D1 DRI, 4km 30572, SX1001//57

BR T (S B 140 (& B +E)) 1Emax{t FJE20cm m3 A (R R JLE)

AN DI DXIKS 5km %3152, SX1001//58

KT (2B 140 @B +E)) UBmaxft /= 20cm m3 AN (R AR L)

AN D1 DXIg4. 6. 5km 53255, SX1001//59

BR T (S B 140 (& B +E)) 1Emax{t FJE20cm m3 A (R R JLE)

AJ1EA D I DX, 8. 5km %53375-2, SX1001//60

RT (2B 140 @B +E)) UBmaxft /= 20cm m3 AN (R A A L)

AT D1 DRXIES, 11km 3454, SX1001//61

BR T (S B 140 (& B +E)) 1Emax{t FJE20cm m3 A (R R JLE)

AN DI DRXIKS 16kn 5535752, SX1001//62

RT (2B 140 @B +E)) UBmaxft /= 20cm m3 AN (R A A L)
E =




(010013-0)

PR BT (ANA) 130 0 B L DIDECIESH
A1000-0000-01 5 -

4 G A % HAL | B B H il 4 %A e
H AL %Y 1




(010013-0)

S Ny . i.E‘

o HMIE D1 Lut%};EI (Ajj) IEE\J:ZI " Eﬁ#\ﬂﬁ% DIDECHEPY

A1000-0000-02
va N Hi % AL fii

UNVEEIN 536753, SX1001//25
R T (Pehb) 1Emax{t_EE20cm m3 A (RFER L)
NVAES TN 3755, SX1001//26
R T (427794 7/RC-40) lgmaxft /= 20cm m3 AN (R AR L)
NS DI DX 0. 5km 538753, SX1001//84
RT (2B 120 @& E+D)) UBmaxft /= 20cm m3 AN (R A A L)
AN DI DX 1kn H5395%%, SX1001//85
R T (2B 120 (& 2 +D)) 1Emax{t FJE20cm m3 A (R R JLE)
NS DI DX 1. 5kn 540753, SX1001//86
KT (2B 120 E+D)) UBmaxft /= 20cm m3 AN (R A A L)
AN DI DX 2kn 4157, SX1001//87
BRE T (S B 120 (& 2 +D)) 1Emax{t FJE20cm m3 A (R R JLE)
NS DI DX 2. 5kn 542753, SX1001//88
KT (2B 120 @& E+D)) UBmaxft /= 20cm m3 AN (R AR L)
ASEAN DI DX 3. 5km 4355, SX1001//89
R T (SR 120 (2 2 +D)) 1Emax{t FJE20cm m3 A (R R JLE)
NS DI DX 4. 5km 54453, SX1001//90
RT (2B 120 @& E+D)) UBmaxft /= 20cm m3 AN (R A A L)
AJ1#EAN D 1 DXIKN 6km 5455%%, SX1001//91
R T (2B 120 (& 2 +D)) 1Emax{t FJE20cm m3 A (R R JLE)
NS D I DX 8km 546753, SX1001//92
KT (2B 120 E+D)) UBmaxft /= 20cm m3 AN (R A A L)
AAFEN DI DXIEEA 10. 5km AT 57, SX1001//93
BR T (2B 120 (& R +D)) 1Emax{t FJE20cm m3 A (R R JLE)




(010013-0)

S Ny . i.E‘

50 B M3 D2 Lut%};EI (Ajj) IEE\J:ZI " Eﬁ#\ﬂﬁ% ;DID[Z s

A1000-0000-02
va N Hi % AL fii

NS DI DX 14. 5km 548753, SX1001//94
KT (2B 120 @& E+D)) UBmaxft /= 20cm m3 A (R A A L)
AAEEN DI DXIEEA 0. 5km 49572, SX1001//27
BR T (S B 140 (2 B +D)) 1Emax{t FJE20cm m3 A (R R JLE)
AJ1#EA DI DI 1km 550753, SX1001//28
RT (2B 140 @& B +D)) UBmaxft /= 20cm m3 AN (R A A L)
ASEEN DI DXIEA 1. 5km 5154, SX1001//29
BR T (S B 140 (2 B +D)) 1Emax{t FJE20cm m3 A (R R JLE)
NS DI DXIEN 2km 552753, SX1001//30
KT (2B 140 @B +D)) UBmaxft /= 20cm m3 AN (R A A L)
ASEEN DI DXIEAN 2. 5km #5354, SX1001//31
BR T (S B 140 (& B +D)) 1Emax{t FJE20cm m3 A (R R JLE)
NS DI DX 3. 5km 55453, SX1001//74
KT (2B 140 @& B +D)) UBmaxft /= 20cm m3 AN (R AR L)
ASEAN DI DX 4. 5km 55553, SX1001//75
BR T (S B 140 (& B +D)) 1Emax{t FJE20cm m3 A (R R JLE)
NS D I DX 6km 556753, SX1001//76
KT (2B 140 @& B +D)) UBmaxft /= 20cm m3 AN (R A A L)
AJ1#EAN D 1 DXIKN 8km 5753, SX1001//36
BR T (S B 140 (& B +D)) 1Emax{t FJE20cm m3 A (R R JLE)
NS D I DX 10. 5km 558753, SX1001//77
KT (2B 140 @& B +D)) UBmaxft /= 20cm m3 AN (R A A L)
ASFEN D1 DXIEAN 14, 5km 5957, SX1001//78
BR T (S B 140 (& B +D)) 1Emax{t FJE20cm m3 A (R R JLE)




(010013-0)

S Ny . i.E‘
EE 0B M3 D3 Lut%};EI (Ajj) IEE\J:ZI " Eﬁ#\ﬂﬁ% DIDECHEPY
A1000-0000-02
4 g A % AL fii
NS DI DX 0. 5km 560753, SX1001//38
KT (2B 140 @B +E)) UBmaxft /= 20cm m3 A (R A A L)
AN DI DX 1km 6157, SX1001//39
BR T (S B 140 (X B +E)) 1Emax{t FJE20cm m3 A (R R JLE)
NS DI DX 1. 5km 562753, SX1001//40
RT (2B 140 @B +E)) UBmaxft /= 20cm m3 AN (R A A L)
AN DI DX 2kn H6354¢, SX1001//41
BR T (S B 140 (& B +E)) 1Emax{t FJE20cm m3 A (R R JLE)
NS DI DIXIEN 2. 5kn 564753, SX1001//42
KT (2B 140 @B +E)) UBmaxft /= 20cm m3 AN (R A A L)
ASEEN DI DXIEA 3. 5km 6554, SX1001//79
BR T (S B 140 (& B +E)) 1Emax{t FJE20cm m3 A (R R JLE)
NS DI DX 4. 5km 566752, SX1001//80
KT (2B 140 @B +E)) UBmaxft /= 20cm m3 AN (R AR L)
AJ1#EAN D 1 DXIKN 6km 6755, SX1001//81
BR T (S B 140 (& B +E)) 1Emax{t FJE20cm m3 A (R R JLE)
NS D I DX 8km 568753, SX1001//47
RT (2B 140 @B +E)) UBmaxft /= 20cm m3 AN (R A A L)
NS D 1 DI 10. 5km 56955, SX1001//82
BR T (S B 140 (& B +E)) 1Emax{t FJE20cm m3 A (R R JLE)
NS DI DX 14. 5km 7053, SX1001//83
RT (2B 140 @B +E)) UBmaxft /= 20cm m3 AN (R A A L)
E =




(010013-0)

%‘2%%%}3@@4 E%JEEI (}\jj) lﬁu:_/l {0 Eﬁff‘&'i’% ?%?jg DID[ZE&W
A1000-0000-02 5 -

4 G A % HAL | B B H il 4 %A fii
H AL %Y 1




(010013-0)

2 N \ N Vs s TR« AN
ERCE PR L (BEfd)  100m3= U HiffiaR 20 ¢ Umaxft 1/520cn
SX1001-0000-01 5 AN R E L)
4 G A % HAL | B B H il 4 %A e
T0505
il (PEV) m3 126 L A (TZJ2104001)
BLGHRIH 0 FTl 53, SP12150//1
HMEL +w fii [ O A Y m3 100 [I2R T
79000
R HEE HhakrILd 2V 1
& g m3 100
H ALY b m3 1

,10,




(010013-0)

— . ‘\ »“ . NN /2 | :
HomH Et%};EI (ﬁ$77\//*/7/RC 40) 100m3 ﬂ:ﬁ @ E‘/ﬁﬂi% ?%jf?ji : {\Eﬂiéig20cm
SX1001-0000-02 5 AN R E L)
4 e H i HAr | ¥ B H il 4 %A e
RC-40 T0545
BAEITTY m3 126 LA (TZJ2122003)
BLGHRIH 0 FTl 53, SP12150//1
HEL +w fii [ O A Y m3 100 VAR ALY
79000
R HEE HEhaHTi AL = 1
& g m3 100
H ALY b m3 1

,11,




(010013-0)

/ j2=1 I D I DXk 0.5k
FRE=E E%EEI (E‘&Ej:20 (E&EiD> ) 100m3 \él {0 E‘,ﬁﬂii% ?%f?ji : {\Eﬂiétg2ocg o !
SX1001-0000-63 5 AN R E L)
4 G A i HAr | ¥ B H il 4 %A e L
K F T0507
= 20~0m/m (& B +D) m3 120 VL B (% %8 4E e B i)
BLGHRIH 0 FTl 53, SP12150//1
HMEL +w & OA Y m3 100 VAR ALY
NV 7253, SP12020//1
TEER TR GE-EARY E0) | DIDSEL 0. 5kmbA F m3 100 VR R R L Y
79000
A HEE HEHaHi AL = 1
o = m3 100
H AL %40 m3 1

,12,




(010013-0)

/ j2=1 I D I DXk 1. 5k
A E%EEI (E‘&Ej:20 (E&EiD> ) 100m3 \él {0 E‘,ﬁﬂii% ?%f?ji : {\Eﬂiétg2ocg o !
SX1001-0000-64 5 AN R E L)
4 G A i HAr | ¥ B H il 4 %A e L
K F T0507
= 20~0m/m (% B +D) m3 120 VL B (% %8 4E e B i)
BLGHRIH 0 FTl 53, SP12150//1
HMEL +w & OA Y m3 100 VAR ALY
NV 7353, SP12020//2
TEER TR ER-FARY EE0) | DIDSEL 1. 5kmPA F m3 100 VR R R L Y
79000
A HEE HEHaHi AL = 1
o = m3 100
H AL %40 m3 1

,13,




(010013-0)

/ 2=} 1] . D I DXk 2k
22 BEPR T (S R 20 (B R 42D))  100m3= ¥ Hiffhi Ak Ut L 2
SX1001-0000-65 5 AN R E L)
4 e H i HAr | ¥ B H il & %A fii L
K F T0507
= 20~0m/m (& B +D) m3 120 VR LA (R 8 AR 0k B £ 1)
BLGHRIH 0 FTl 53, SP12150//1
HWEL +#) HEEDH Y m3 100 ISR ==
NV 7453, SP12020//3
TEER TR E-FARY E0) | DIDEEL 2. OkmbA F m3 100 VR i
79000
A HEE BN I = 1
= # m3 100
H AL %40 m3 1

,14,




(010013-0)

/ j2=1 I D I DXish 2. 5k
e a3 E%EEI (E‘&Ej:20 (E&EiD> ) 100m3 \él {0 E‘,ﬁﬂii% ?%f?ji : {\Eﬂiétg2ocg o !
SX1001-0000-66 5 AN R E L)
4 G A i HAr | ¥ B H il 4 %A e L
K F T0507
= 20~0m/m (& B +D) m3 120 VL B (% %8 4E e B i)
BLGHRIH 0 FTl 53, SP12150//1
HMEL +w & OA Y m3 100 VAR ALY
NV 7553, SP12020//4
TEER TR E-FARY E0) | DIDSEL 2. 5kmPA F m3 100 VR R R L Y
79000
A HEE HEHaHi AL = 1
o = m3 100
H AL %40 m3 1

,15,




(010013-0)

/ j2=1 I D I DXiksh 3k
o BEPR T (S R 20 (B R 42D))  100m3= ¥ Hiffhi T el
SX1001-0000-67 5 AN R E L)
4 e H i HAr | ¥ B H il & %A fii L
FEE T0507
= 20~0m/m (& B +D) m3 120 VR LA (R 8 AR 0k B £ 1)
BLGHRIH 0 FTl 53, SP12150//1
HWEL +#) HEEDH Y m3 100 ISR ==
NV 1654, SP12020//21
TEER TR GER-FARY EE0) | DIDEEL 3. OkmPA F m3 100 VR i Y
79000
A HEE BN I = 1
= # m3 100
H AL %40 m3 1

,16,




(010013-0)

/ 2=} 1] . D I DXk 4k
i BEPR T (S R 20 (B R 42D))  100m3= ¥ Hiffhi Tk Ut L
SX1001-0000-68 5 AN R E L)
4 e H i HAr | ¥ B H il & %A fii L
K F T0507
= 20~0m/m (& B +D) m3 120 VR LA (R 8 AR 0k B £ 1)
BLGHRIH 0 FTl 53, SP12150//1
HWEL +#) HEEDH Y m3 100 ISR ==
NV 1753, SP12020//5
TEER TR E-FARY LE0) | DIDSEL 4. OkmPA F m3 100 VR i Y
79000
A HEE BN I = 1
= # m3 100
H AL %40 m3 1

,17,




(010013-0)

/ 2=} 1] . D I DXIik4h 5k
o2 BEPR T (S R 20 (B R 42D))  100m3= ¥ Hiffhi TR+ Ut L ok
SX1001-0000-69 5 AN R E L)
4 e H i HAr | ¥ B H il & %A fii L
K F T0507
= 20~0m/m (& B +D) m3 120 VR LA (R 8 AR 0k B £ 1)
BLGHRIH 0 FTl 53, SP12150//1
HWEL +#) HEEDH Y m3 100 ISR ==
NV 57853, SP12020//6
TEER TR GEW-FARY E0) | DIDSEL 5. OkmbA F m3 100 VR
79000
A HEE BN I = 1
= # m3 100
H AL %40 m3 1

,18,




(010013-0)

/ 2=} 1] . D I DXik#h 6. 5k
1054 BEPR T (S R 20 (B R 42D))  100m3= ¥ Hiffhi S
SX1001-0000-70 5 AN R E L)
4 e H i HAr | ¥ B H il & %A fii L
K F T0507
= 20~0m/m (& B +D) m3 120 VR LA (R 8 AR 0k B £ 1)
BLGHRIH 0 FTl 53, SP12150//1
HWEL +#) HEEDH Y m3 100 ISR ==
NV 7953, SP12020//7
TEER TR GE-FARY E0) | DIDSEL 6. 5kmbA F m3 100 VR
79000
A HEE BN I = 1
= # m3 100
H AL %40 m3 1

,19,




(010013-0)

/ 2=} 1] . D I DXik#+ 8. 5k
115 BEPR T (S R 20 (B R 42D))  100m3= ¥ Hiffhi S
SX1001-0000-71 5 AN R E L)
4 e H i HAr | ¥ B H il & %A fii L
K F T0507
= 20~0m/m (& B +D) m3 120 VR LA (R 8 AR 0k B £ 1)
BLGHRIH 0 FTl 53, SP12150//1
HWEL +#) HEEDH Y m3 100 ISR ==
NV 580753, SP12020//8
TEER TR E-FARY E0) | DIDSEL 8. 5kmbA F m3 100 VR i i Y
79000
A HEE BN I = 1
= # m3 100
H AL %40 m3 1

,20,




(010013-0)

/ 2=} 1] . D I DXk 11k
BEPRC (B 420 (MR ED))  100m324 0 Hifligk 90 A b b v
SX1001-0000-72 5 AN R E L)
4 e H i HAr | ¥ B H il & %A fii L
K F T0507
= 20~0m/m (& B +D) m3 120 VR B (R 8 A B 1 B
BLGHRIH 0 FTl 53, SP12150//1
HWEL +#) HEEDH Y m3 100 ISR ==
NV 581753, SP12020//9
HISER L (A EARY +AT) | DIDIEL 11 OkmbA F m3 100 SRR A YE
79000
A HEE BN I = 1
= # m3 100
BN Y D m3 1

,21,




(010013-0)

/ j2=1 I D I DX 16k
195 PR T (SR 120 (S R 4:D))  100m3=4 V) Hiffiz& Tk s Uit 1o 16k
SX1001-0000-73 5 AN R E L)
4 e H i HAr | ¥ B H il & %A fii L
K F T0507
= 20~0m/m (& B +D) m3 120 VR B (R 8 A B 1 B
BLGHRIH 0 FTl 53, SP12150//1
HWEL +#) HEEDH Y m3 100 ISR ==
NV 582753, SP12020//10
HISER LB (A EARY +AT) | DIDIEL 16. OknbA m3 100 SRR A YE
79000
A HEE BN I = 1
= # m3 100
H AL %40 m3 1

,22,




(010013-0)

/ 2=} 1] . D I DXik#k 0. 5k
o PR T (SR 140 (S R 1:D))  100m3=4 V) Hiffiz& S
SX1001-0000-03 5 AN R E L)
4 e H ¥ HAr | ¥ B H il & %A fii L
T0510
= 40~0m/m (% B +D) m3 120 VR B (R 8 A B 1 B
BLGHRIH 0 FTl 53, SP12150//1
HWEL +#) HEEDH Y m3 100 ISR ==
NV 7253, SP12020//1
EYSER TR A EARY 1 AT) | DIDMEL 0. 5knld F m3 100 ST
79000
A HEE BN I = 1
= # m3 100
BN Y D m3 1

,23,




(010013-0)

/ 2=} 1] . D I DXk#h 1. 5k
155 PR T (SR 140 (S R 1:D))  100m3=4 V) Hiffiz& S I
SX1001-0000-05 5 AN R E L)
4 e H ¥ HAr | ¥ B H il & %A fii L
T0510
= 40~0m/m (% B +D) m3 120 VR B (R 8 A B 1 B
BLGHRIH 0 FTl 53, SP12150//1
HWEL +#) HEEDH Y m3 100 ISR ==
NV 7353, SP12020//2
TEYEER TR A AR 1AT) | DIDMEL 1 SknldF m3 100 ST
79000
A HEE BN I = 1
= # m3 100
BN Y D m3 1

,24,




(010013-0)

/ 2=} 1] . D I DXk 2k
1654 PR T (SR 140 (S R 1:D))  100m3=4 V) Hiffiz& Ak Ut L 2
SX1001-0000-06 5 AN R E L)
4 e H ¥ HAr | ¥ B H il & %A fii L
T0510
= 40~0m/m (% B +D) m3 120 VR B (R 8 A B 1 B
BLGHRIH 0 FTl 53, SP12150//1
HWEL +#) HEEDH Y m3 100 ISR ==
NV 7453, SP12020//3
FEYSER TR A EARY 1AT) | DIDMEL 2. OknbAF m3 100 ST
79000
A HEE BN I = 1
= # m3 100
BN Y D m3 1

,25,




(010013-0)

/ 2=} 1] . D I DXk 2. 5k
175 PR T (SR 140 (S R 1:D))  100m3=4 V) Hiffiz& S I
SX1001-0000-07 5 AN R E L)
4 e H ¥ HAr | ¥ B H il & %A fii L
T0510
= 40~0m/m (% B +D) m3 120 VR B (R 8 A B 1 B
BLGHRIH 0 FTl 53, SP12150//1
HWEL +#) HEEDH Y m3 100 ISR ==
NV 7553, SP12020//4
TEYEER TR A EARY 1AT) | DIDMEL 2. 5knld F m3 100 ST
79000
A HEE BN I = 1
= # m3 100
BN Y D m3 1

,26,




(010013-0)

/ j2=1 I D I DXiksh 3k
185 PR T (SR 140 (S R 1:D))  100m3=4 V) Hiffiz& T el
SX1001-0000-49 5 AN R E L)
4 e H ¥ HAr | ¥ B H il & %A fii L
T0510
= 40~0m/m (% B +D) m3 120 VR B (R 8 A B 1 B
BLGHRIH 0 FTl 53, SP12150//1
HWEL +#) HEEDH Y m3 100 ISR ==
NV 76753, SP12020//21
FEYEER TR CAS EARY 1AT) | DIDMEL 3. 0knbAF m3 100 ST
79000
A HEE BN I = 1
= # m3 100
BN Y D m3 1

,27,




(010013-0)

/ 2=} 1] . D I DXk 4k
1954 PR T (SR 140 (S R 1:D))  100m3=4 V) Hiffiz& Tk Ut L
SX1001-0000-50 5 AN R E L)
4 e H ¥ HAr | ¥ B H il & %A fii L
T0510
= 40~0m/m (% B +D) m3 120 VR B (R 8 A B 1 B
BLGHRIH 0 FTl 53, SP12150//1
HWEL +#) HEEDH Y m3 100 ISR ==
NV 1753, SP12020//5
FESER TR A EARY 1AT) | DIDMEL 4. 0knBAF m3 100 ST
79000
A HEE BN I = 1
= # m3 100
BN Y D m3 1

,28,




(010013-0)

/ 2=} 1] . D I DXIik4h 5k
20534 PR T (SR 140 (S R 1:D))  100m3=4 V) Hiffiz& TR+ Ut L ok
SX1001-0000-51 5 AN R E L)
4 e H ¥ HAr | ¥ B H il & %A fii L
T0510
= 40~0m/m (% B +D) m3 120 VR B (R 8 A B 1 B
BLGHRIH 0 FTl 53, SP12150//1
HWEL +#) HEEDH Y m3 100 ISR ==
NV 57853, SP12020//6
HEYSER TR A EARY 1AT) | DIDMEL 5. 0knbAF m3 100 ST
79000
A HEE BN I = 1
= # m3 100
BN Y D m3 1

,29,




(010013-0)

/ 2=} 1] . D I DXik#h 6. 5k
T PR T (SR 140 (S R 1:D))  100m3=4 V) Hiffiz& S
SX1001-0000-52 5 AN R E L)
4 e H ¥ HAr | ¥ B H il & %A fii L
T0510
= 40~0m/m (% B +D) m3 120 VR B (R 8 A B 1 B
BLGHRIH 0 FTl 53, SP12150//1
HWEL +#) HEEDH Y m3 100 ISR ==
NV 7953, SP12020//7
EYEER TR A EARY 1 AT) | DIDMEL 6. 5knll F m3 100 ST
79000
A HEE BN I = 1
= # m3 100
BN Y D m3 1

,30,




(010013-0)

/ 2=} 1] . D I DXik#+ 8. 5k
o PR T (SR 140 (S R 1:D))  100m3=4 V) Hiffiz& S
SX1001-0000-53 5 AN R E L)
4 e H ¥ HAr | ¥ B H il & %A fii L
T0510
= 40~0m/m (% B +D) m3 120 VR B (R 8 A B 1 B
BLGHRIH 0 FTl 53, SP12150//1
HWEL +#) HEEDH Y m3 100 ISR ==
NV 580753, SP12020//8
FEYSER TR CES EARY 1AT) | DIDMEL 8. 5knld F m3 100 ST
79000
A HEE BN I = 1
= # m3 100
BN Y D m3 1

,31,




(010013-0)

/ 2=} 1] . D I DXk 11k
i3s3 PR T (SR 140 (S R 1:D))  100m3=4 V) Hiffiz& Tk s Uit Lo M
SX1001-0000-54 5 AN R E L)
4 e H ¥ HAr | ¥ B H il & %A fii L
T0510
= 40~0m/m (% B +D) m3 120 VR B (R 8 A B 1 B
BLGHRIH 0 FTl 53, SP12150//1
HWEL +#) HEEDH Y m3 100 ISR ==
NV 581753, SP12020//9
HISER L (A EARY +AT) | DIDIEL 11 OkmbA F m3 100 SRR A YE
79000
A HEE BN I = 1
= # m3 100
BN Y D m3 1

,32,




(010013-0)

/ j2=1 I D I DX 16k
o PR T (SR 140 (S R 1:D))  100m3=4 V) Hiffiz& Tk s Uit 1o 16k
SX1001-0000-55 5 AN R E L)
4 e H ¥ HAr | ¥ B H il & %A fii L
T0510
= 40~0m/m (% B +D) m3 120 VR B (R 8 A B 1 B
BLGHRIH 0 FTl 53, SP12150//1
HWEL +#) HEEDH Y m3 100 ISR ==
NV 582753, SP12020//10
HISER LB (A EARY +AT) | DIDIEL 16. OknbA m3 100 SRR A YE
79000
A HEE BN I = 1
= # m3 100
BN Y D m3 1

,33,




(010013-0)

/ 2=} 1] . D I DXik#k 0. 5k
o530 PR T (SR 140 (S R EE))  100m33 V) Hiffiz& S
SX1001-0000-14 5 AN R E L)
4 e H ¥ HAr | ¥ B H il & %A fii L
T0515
= 40~0m/m (% B +E) m3 120 VR B (R 8 A B 1 B
BLGHRIH 0 FTl 53, SP12150//1
HWEL +#) HEEDH Y m3 100 ISR ==
NV 7253, SP12020//1
EYSER TR A EARY 1 AT) | DIDMEL 0. 5knld F m3 100 ST
79000
A HEE BN I = 1
= # m3 100
BN Y D m3 1

,34,




(010013-0)

/ 2=} 1] . D I DXk#h 1. 5k
2653 PR T (SR 140 (S R EE))  100m33 V) Hiffiz& S I
SX1001-0000-16 5 AN R E L)
4 e H ¥ HAr | ¥ B H il & %A fii L
T0515
= 40~0m/m (% B +E) m3 120 VR B (R 8 A B 1 B
BLGHRIH 0 FTl 53, SP12150//1
HWEL +#) HEEDH Y m3 100 ISR ==
NV 7353, SP12020//2
TEYEER TR A AR 1AT) | DIDMEL 1 SknldF m3 100 ST
79000
A HEE BN I = 1
= # m3 100
BN Y D m3 1

,35,




(010013-0)

/ 2=} 1] . D I DXk 2k
o7y PR T (SR 140 (S R EE))  100m33 V) Hiffiz& Ak Ut L 2
SX1001-0000-17 5 AN R E L)
4 e H ¥ HAr | ¥ B H il & %A fii L
T0515
= 40~0m/m (% B +E) m3 120 VR B (R 8 A B 1 B
BLGHRIH 0 FTl 53, SP12150//1
HWEL +#) HEEDH Y m3 100 ISR ==
NV 7453, SP12020//3
FEYSER TR A EARY 1AT) | DIDMEL 2. OknbAF m3 100 ST
79000
A HEE BN I = 1
= # m3 100
BN Y D m3 1

,36,




(010013-0)

/ 2=} 1] . D I DXk 2. 5k
o 51 PR T (SR 140 (S R EE))  100m33 V) Hiffiz& S I
SX1001-0000-18 5 AN R E L)
4 e H ¥ HAr | ¥ B H il & %A fii L
T0515
= 40~0m/m (% B +E) m3 120 VR B (R 8 A B 1 B
BLGHRIH 0 FTl 53, SP12150//1
HWEL +#) HEEDH Y m3 100 ISR ==
NV 7553, SP12020//4
TEYEER TR A EARY 1AT) | DIDMEL 2. 5knld F m3 100 ST
79000
A HEE BN I = 1
= # m3 100
BN Y D m3 1

,37,




(010013-0)

/ j2=1 I D I DXiksh 3k
2953 PR T (SR 140 (S R EE))  100m33 V) Hiffiz& T el
SX1001-0000-56 5 AN R E L)
4 e H ¥ HAr | ¥ B H il & %A fii L
T0515
= 40~0m/m (% B +E) m3 120 VR B (R 8 A B 1 B
BLGHRIH 0 FTl 53, SP12150//1
HWEL +#) HEEDH Y m3 100 ISR ==
NV 76753, SP12020//21
FEYEER TR CAS EARY 1AT) | DIDMEL 3. 0knbAF m3 100 ST
79000
A HEE BN I = 1
= # m3 100
BN Y D m3 1

,38,




(010013-0)

/ 2=} 1] . D I DXk 4k
30534 PR T (SR 140 (S R EE))  100m33 V) Hiffiz& Tk Ut L
SX1001-0000-57 5 AN R E L)
4 e H ¥ HAr | ¥ B H il & %A fii L
T0515
= 40~0m/m (% B +E) m3 120 VR B (R 8 A B 1 B
BLGHRIH 0 FTl 53, SP12150//1
HWEL +#) HEEDH Y m3 100 ISR ==
NV 1753, SP12020//5
FESER TR A EARY 1AT) | DIDMEL 4. 0knBAF m3 100 ST
79000
A HEE BN I = 1
= # m3 100
BN Y D m3 1

,39,




(010013-0)

/ 2=} 1] . D I DXIik4h 5k
o PR T (SR 140 (S R EE))  100m33 V) Hiffiz& TR+ Ut L ok
SX1001-0000-58 5 AN R E L)
4 e H ¥ HAr | ¥ B H il & %A fii L
T0515
= 40~0m/m (% B +E) m3 120 VR B (R 8 A B 1 B
BLGHRIH 0 FTl 53, SP12150//1
HWEL +#) HEEDH Y m3 100 ISR ==
NV 57853, SP12020//6
HEYSER TR A EARY 1AT) | DIDMEL 5. 0knbAF m3 100 ST
79000
A HEE BN I = 1
= # m3 100
BN Y D m3 1

,40,




(010013-0)

/ 2=} 1] . D I DXik#h 6. 5k
o PR T (SR 140 (S R EE))  100m33 V) Hiffiz& S
SX1001-0000-59 5 AN R E L)
4 e H ¥ HAr | ¥ B H il & %A fii L
T0515
= 40~0m/m (% B +E) m3 120 VR B (R 8 A B 1 B
BLGHRIH 0 FTl 53, SP12150//1
HWEL +#) HEEDH Y m3 100 ISR ==
NV 7953, SP12020//7
EYEER TR A EARY 1 AT) | DIDMEL 6. 5knll F m3 100 ST
79000
A HEE BN I = 1
= # m3 100
BN Y D m3 1

,41,




(010013-0)

/ 2=} 1] . D I DXik#+ 8. 5k
o PR T (SR 140 (S R EE))  100m33 V) Hiffiz& S
SX1001-0000-60 5 AN R E L)
4 e H ¥ HAr | ¥ B H il & %A fii L
T0515
= 40~0m/m (% B +E) m3 120 VR B (R 8 A B 1 B
BLGHRIH 0 FTl 53, SP12150//1
HWEL +#) HEEDH Y m3 100 ISR ==
NV 580753, SP12020//8
FEYSER TR CES EARY 1AT) | DIDMEL 8. 5knld F m3 100 ST
79000
A HEE BN I = 1
= # m3 100
BN Y D m3 1

,42,




(010013-0)

/ 2=} 1] . D I DXk 11k
o PR T (SR 140 (S R EE))  100m33 V) Hiffiz& Tk s Uit Lo M
SX1001-0000-61 5 AN R E L)
4 e H ¥ HAr | ¥ B H il & %A fii L
T0515
= 40~0m/m (% B +E) m3 120 VR B (R 8 A B 1 B
BLGHRIH 0 FTl 53, SP12150//1
HWEL +#) HEEDH Y m3 100 ISR ==
NV 581753, SP12020//9
HISER L (A EARY +AT) | DIDIEL 11 OkmbA F m3 100 SRR A YE
79000
A HEE BN I = 1
= # m3 100
BN Y D m3 1

,43,




(010013-0)

/ j2=1 I D I DX 16k
o PR T (SR 140 (S R EE))  100m33 V) Hiffiz& Tk s Uit 1o 16k
SX1001-0000-62 5 AN R E L)
4 e H ¥ HAr | ¥ B H il & %A fii L
T0515
= 40~0m/m (% B +E) m3 120 VR B (R 8 A B 1 B
BLGHRIH 0 FTl 53, SP12150//1
HWEL +#) HEEDH Y m3 100 ISR ==
NV 582753, SP12020//10
HISER LB (A EARY +AT) | DIDIEL 16. OknbA m3 100 SRR A YE
79000
A HEE BN I = 1
= # m3 100
BN Y D m3 1

,44,




(010013-0)

2 N \ N Vs B TR« AN
3655 EtDEEI (/SEE}) 100m3 él D E‘,ﬁiﬁi% ZAR 0 1Emax{t_FJE20cm
SX1001-0000-25 5 AN R E L)
4 G A % HAL | B B H il & %A fii
T0505
il (PEV) m3 126 L A (TZJ2104001)
BLGHRIH 0 FTl 53, SP12150//1
HMEL +w fii [ O A Y m3 100 [I2R T
79000
R HEE HhakrILd 2V 1
& g m3 100
H ALY b m3 1

,45,




(010013-0)

I ) _ N N, R . NN
FRVEE Et%};EI (ﬁ$77//*/7/RC 40) 100m3 él @ E‘/ﬁﬂi% AR+ UEmaxft /& 20cm
SX1001-0000-26 5 AN R E L)
4 e H i HAr | ¥ B H il 4 %A e
RC-40 T0545
BAEITTY m3 126 LA (TZJ2122003)
BLGHRIH 0 FTl 53, SP12150//1
HEL +w fii [ O A Y m3 100 VAR ALY
79000
R HEE HEhaHTi AL = 1
& g m3 100
H ALY b m3 1

,46,




(010013-0)

/ j2=1 I D I DN 0. bk
i8530 BEPR T (S R 20 (B R 42D))  100m3= ¥ Hiffhi Ak et ooan o ok
SX1001-0000-84 5 AN R E L)

4 e H i HAr | ¥ B H il 4 %A e L

FEE T0507

= 20~0m/m (& B +D) m3 120 VR LA (R 8 AR 0k B £ 1)
BLGHRIH 0 FTl 53, SP12150//1

HMEL +w & OA Y m3 100 VAR ALY
NV 83 5%, SP12020//11

TEER TR GER-FARYEED) | DIDA Y 0. 5kmbA F m3 100 VRS LY

79000

A HEE BN I = 1

o = m3 100

H AL %40 m3 1

,47,




(010013-0)

/ j2=1 I D I DX 1k
3953 PR T (SR 120 (S R 4:D))  100m3=4 V) Hiffiz& N el
SX1001-0000-85 5 AN R E L)
4 e H i HAr | ¥ B H il & %A fii L
K F T0507
= 20~0m/m (& B +D) m3 120 VR B (R 8 A B 1 B
BLGHRIH 0 FTl 53, SP12150//1
HWEL +#) HEEDH Y m3 100 ISR ==
NV 584753, SP12020//12
TRy LR (S EAIRY 14T | DIDA Y 1. OkmbL F m3 100 SRR A 1
79000
A HEE BN I = 1
= # m3 100
H AL %40 m3 1

,48,




(010013-0)

/ j2=1 I D I DXk 1. 5k
0534 BEPR T (S R 20 (B R 42D))  100m3= ¥ Hiffhi Ak | L ogan o 1ok
SX1001-0000-86 5 AN R E L)
4 e H i HAr | ¥ B H il 4 %A e L
FEE T0507
= 20~0m/m (& B +D) m3 120 VR LA (R 8 AR 0k B £ 1)
BLGHRIH 0 FTl 53, SP12150//1
HMEL +w & OA Y m3 100 VAR ALY
NV 85 5%, SP12020//13
TEER TR ER-FARYEED) | DIDA Y 1. 5kmPA F m3 100 VRS LY
79000
A HEE BN I = 1
o = m3 100
H AL %40 m3 1

,49,




(010013-0)

/ j2=1 I DI DXIEAN 2k
L5 PR T (SR 120 (S R 4:D))  100m3=4 V) Hiffiz& N el
SX1001-0000-87 5 AN R E L)
4 e H i HAr | ¥ B H il & %A fii L
K F T0507
= 20~0m/m (& B +D) m3 120 VR B (R 8 A B 1 B
BLGHRIH 0 FTl 53, SP12150//1
HWEL +#) HEEDH Y m3 100 ISR ==
NV 586753, SP12020//14
TRy LR (- EAIRY 1AT) | DIDA Y 2. 0kmbL F m3 100 SRR A 1
79000
A HEE BN I = 1
= # m3 100
H AL %40 m3 1

,50,




(010013-0)

/ j2=1 I D I DN 2.5k
o BEPR T (S R 20 (B R 42D))  100m3= ¥ Hiffhi AL L oo, ol
SX1001-0000-88 5 AN R E L)
4 e H i HAr | ¥ B H il 4 %A e L
FEE T0507
= 20~0m/m (& B +D) m3 120 VR LA (R 8 AR 0k B £ 1)
BLGHRIH 0 FTl 53, SP12150//1
HMEL +w & OA Y m3 100 VAR ALY
NV 8T 5%, SP12020//15
TEER TR ER-FARY EED) | DIDA Y 2. 5kmbA F m3 100 VRS LY
79000
A HEE BN I = 1
o = m3 100
H AL %40 m3 1

,51,




(010013-0)

/ j2=1 I D I DXIN 3.5k
i35y BEPR T (S R 20 (B R 42D))  100m3= ¥ Hiffhi Ak ML ogan 0 & ok
SX1001-0000-89 5 AN R E L)

4 e H i HAr | ¥ B H il 4 %A e L

FEE T0507

= 20~0m/m (& B +D) m3 120 VR LA (R 8 AR 0k B £ 1)
BLGHRIH 0 FTl 53, SP12150//1

HMEL +w & OA Y m3 100 VAR ALY
NV 288 5%, SP12020//16

TEER TR ER-EARYEED) | DIDA Y 3. 5kmPA F m3 100 VRS LY

79000

A HEE BN I = 1

o = m3 100

H AL %40 m3 1

,52,




(010013-0)

/ j2=1 I D I DXIN 4. bk
o BEPR T (S R 20 (B R 42D))  100m3= ¥ Hiffhi S S
SX1001-0000-90 5 AN R E L)
4 e H i HAr | ¥ B H il 4 %A e L
FEE T0507
= 20~0m/m (& B +D) m3 120 VR LA (R 8 AR 0k B £ 1)
BLGHRIH 0 FTl 53, SP12150//1
HMEL +w & OA Y m3 100 VAR ALY
NV 89 5%, SP12020//17
TEER TR ER-FARYEED) | DIDA Y 4. 5kmPA F m3 100 VRS LY
79000
A HEE BN I = 1
o = m3 100
H AL %40 m3 1

,53,




(010013-0)

/ j2=1 I DI DXIkN 6k
553 PR T (SR 120 (S R 4:D))  100m3=4 V) Hiffiz& N el
SX1001-0000-91 5 AN R E L)
4 e H i HAr | ¥ B H il & %A fii L
K F T0507
= 20~0m/m (& B +D) m3 120 VR B (R 8 A B 1 B
BLGHRIH 0 FTl 53, SP12150//1
HWEL +#) HEEDH Y m3 100 ISR ==
NV 590753, SP12020//18
TRy LR (- EAIRY 14T | DIDA Y 6. OkmbL F m3 100 SRR A 1
79000
A HEE BN I = 1
= # m3 100
H AL %40 m3 1

,54,




(010013-0)

/ j2=1 I DI DXIkN 8k
1653 PR T (SR 120 (S R 4:D))  100m3=4 V) Hiffiz& N el
SX1001-0000-92 5 AN R E L)
4 e H i HAr | ¥ B H il & %A fii L
K F T0507
= 20~0m/m (& B +D) m3 120 VR B (R 8 A B 1 B
BLGHRIH 0 FTl 53, SP12150//1
HWEL +#) HEEDH Y m3 100 ISR ==
NV %9153, SP12020//19
TRy LR (- EAIRY 14T | DIDA Y 8. OkmbL F m3 100 SRR A 1
79000
A HEE BN I = 1
= # m3 100
H AL %40 m3 1

,55,




(010013-0)

/ j2=1 I D I DXk 10. 5k
Ty BEPR T (S R 20 (B R 42D))  100m3= ¥ Hiffhi AL s oo, 0 109K
SX1001-0000-93 5 AN R E L)
4 e H i HAr | ¥ B H il 4 %A e L
FEE T0507
= 20~0m/m (& B +D) m3 120 VR LA (R 8 AR 0k B £ 1)
BLGHRIH 0 FTl 53, SP12150//1
HMEL +w & OA Y m3 100 VAR ALY
NV 9254, SP12020//22
TEER T GER-FAREY ET) | DIDA Y 10, bkmPA F m3 100 VR R R L Y
79000
A HEE BN I = 1
o = m3 100
H AL %40 m3 1

,56,




(010013-0)

/ j2=1 I D I DXk 14. 5k
s BEPR T (S R 20 (B R 42D))  100m3= ¥ Hiffhi AL | s oo, 1ok
SX1001-0000-94 5 AN R E L)
4 e H i HAr | ¥ B H il 4 %A e L
FEE T0507
= 20~0m/m (& B +D) m3 120 VR LA (R 8 AR 0k B £ 1)
BLGHRIH 0 FTl 53, SP12150//1
HMEL +w & OA Y m3 100 VAR ALY
NV 9354, SP12020//20
TEER TR GER-FAREY EED) | DIDA Y 14, 5kmPA F m3 100 VRS LY
79000
A HEE BN I = 1
o = m3 100
H AL %40 m3 1

,57,




(010013-0)

2=} 1] . kN 0. bk
1953 PR T (SR 140 (S R 1:D))  100m3=4 V) Hiffiz& Ak et ooan o ok
SX1001-0000-27 5 AN R E L)
4 e H ¥ HAr | ¥ B H il & %A fii L
T0510
= 40~0m/m (% B +D) m3 120 VR B (R 8 A B 1 B
BLGHRIH 0 FTl 53, SP12150//1
HWEL +#) HEEDH Y m3 100 ISR ==
NV 583753, SP12020//11
TRy LR (- EAIRY 14T | DIDA Y 0. 5kmbL F m3 100 SRR A 1
79000
A HEE BN I = 1
= # m3 100
H AL %40 m3 1

,58,




(010013-0)

NN 2 | : iﬂ‘ k
50534 PR T (SR 140 (S R 1:D))  100m3=4 V) Hiffiz& N el
SX1001-0000-28 5 AN R E L)
4 e H ¥ HAr | ¥ B H il & %A fii L
T0510
= 40~0m/m (% B +D) m3 120 VR B (R 8 A B 1 B
BLGHRIH 0 FTl 53, SP12150//1
HWEL +#) HEEDH Y m3 100 ISR ==
NV 584753, SP12020//12
TRy LR (S EAIRY 14T | DIDA Y 1. OkmbL F m3 100 SRR A 1
79000
A HEE BN I = 1
= # m3 100
H AL %40 m3 1

,59,




(010013-0)

2=} 1] . Ik . bk
o PR T (SR 140 (S R 1:D))  100m3=4 V) Hiffiz& Ak | L ogan o 1ok
SX1001-0000-29 5 AN R E L)
4 e H ¥ HAr | ¥ B H il & %A fii L
T0510
= 40~0m/m (% B +D) m3 120 VR B (R 8 A B 1 B
BLGHRIH 0 FTl 53, SP12150//1
HWEL +#) HEEDH Y m3 100 ISR ==
NV 585753, SP12020//13
TRy LR (- EAIRY 1AT) | DIDA Y 1. 5kmbLF m3 100 SRR A 1
79000
A HEE BN I = 1
= # m3 100
H AL %40 m3 1

,60,




(010013-0)

2=} 1] . N 2k
o PR T (SR 140 (S R 1:D))  100m3=4 V) Hiffiz& N el
SX1001-0000-30 5 AN R E L)
4 e H ¥ HAr | ¥ B H il & %A fii L
T0510
= 40~0m/m (% B +D) m3 120 VR B (R 8 A B 1 B
BLGHRIH 0 FTl 53, SP12150//1
HWEL +#) HEEDH Y m3 100 ISR ==
NV 586753, SP12020//14
TRy LR (- EAIRY 1AT) | DIDA Y 2. 0kmbL F m3 100 SRR A 1
79000
A HEE BN I = 1
= # m3 100
BN Y D m3 1

,61,




(010013-0)

2=} 1] . N 2. bk
o PR T (SR 140 (S R 1:D))  100m3=4 V) Hiffiz& AL L oo, ol
SX1001-0000-31 5 AN R E L)
4 e H ¥ HAr | ¥ B H il & %A fii L
T0510
= 40~0m/m (% B +D) m3 120 VR B (R 8 A B 1 B
BLGHRIH 0 FTl 53, SP12150//1
HWEL +#) HEEDH Y m3 100 ISR ==
NV 58753, SP12020//15
TRy LR (S EAIRY 1AT) | DIDA Y 2. 5kmbLF m3 100 SRR A 1
79000
A HEE BN I = 1
= # m3 100
BN Y D m3 1

,62,




(010013-0)

2=} 1] . kN 3. bk
o PR T (SR 140 (S R 1:D))  100m3=4 V) Hiffiz& Ak ML ogan 0 & ok
SX1001-0000-74 5 AN R E L)
4 e H ¥ HAr | ¥ B H il & %A fii L
T0510
= 40~0m/m (% B +D) m3 120 VR B (R 8 A B 1 B
BLGHRIH 0 FTl 53, SP12150//1
HWEL +#) HEEDH Y m3 100 ISR ==
NV 588753, SP12020//16
TRy LR (A EAIRY 1AT) | DIDA Y 3. 5kmbL F m3 100 SRR A 1
79000
A HEE BN I = 1
= # m3 100
H AL %40 m3 1

,63,




(010013-0)

2=} 1] . kN 4. bk
pr—— PR T (SR 140 (S R 1:D))  100m3=4 V) Hiffiz& S S
SX1001-0000-75 5 AN R E L)
4 e H ¥ HAr | ¥ B H il & %A fii L
T0510
= 40~0m/m (% B +D) m3 120 VR B (R 8 A B 1 B
BLGHRIH 0 FTl 53, SP12150//1
HWEL +#) HEEDH Y m3 100 ISR ==
NV 589753, SP12020//17
TRy LR (- EAIRY 14T | DIDA Y 4. 5kmbL F m3 100 SRR A 1
79000
A HEE BN I = 1
= # m3 100
H AL %40 m3 1

,64,




(010013-0)

2=} 1] . N 6k
o PR T (SR 140 (S R 1:D))  100m3=4 V) Hiffiz& N el
SX1001-0000-76 5 AN R E L)
4 e H ¥ HAr | ¥ B H il & %A fii L
T0510
= 40~0m/m (% B +D) m3 120 VR B (R 8 A B 1 B
BLGHRIH 0 FTl 53, SP12150//1
HWEL +#) HEEDH Y m3 100 ISR ==
NV 590753, SP12020//18
TRy LR (- EAIRY 14T | DIDA Y 6. OkmbL F m3 100 SRR A 1
79000
A HEE BN I = 1
= # m3 100
BN Y D m3 1

,65,




(010013-0)

2=} 1] . N 8k
o751 PR T (SR 140 (S R 1:D))  100m3=4 V) Hiffiz& N el
SX1001-0000-36 5 AN R E L)
4 e H ¥ HAr | ¥ B H il & %A fii L
T0510
= 40~0m/m (% B +D) m3 120 VR B (R 8 A B 1 B
BLGHRIH 0 FTl 53, SP12150//1
HWEL +#) HEEDH Y m3 100 ISR ==
NV %9153, SP12020//19
TRy LR (- EAIRY 14T | DIDA Y 8. OkmbL F m3 100 SRR A 1
79000
A HEE BN I = 1
= # m3 100
BN Y D m3 1

,66,




(010013-0)

2=} 1] . Ik 0. bk
o PR T (SR 140 (S R 1:D))  100m3=4 V) Hiffiz& AL s oo, 0 109K
SX1001-0000-77 5 AN R E L)
4 e H ¥ HAr | ¥ B H il & %A fii L
T0510
= 40~0m/m (% B +D) m3 120 VR B (R 8 A B 1 B
BLGHRIH 0 FTl 53, SP12150//1
HWEL +#) HEEDH Y m3 100 ISR ==
NV 59253, SP12020//22
TRSER T (A EARY £8T) | DIDA Y 10. 5knld T m3 100 SRR A 1
79000
A HEE BN I = 1
= # m3 100
H AL %40 m3 1

,67,




(010013-0)

2=} 1] . Ik 4.5k
5053 PR T (SR 140 (S R 1:D))  100m3=4 V) Hiffiz& AL | s oo, 1ok
SX1001-0000-78 5 AN R E L)
4 e H ¥ HAr | ¥ B H il & %A fii L
T0510
= 40~0m/m (% B +D) m3 120 VR B (R 8 A B 1 B
BLGHRIH 0 FTl 53, SP12150//1
HWEL +#) HEEDH Y m3 100 ISR ==
NV 593753, SP12020//20
TRYSER T (A EARY +8T) | DIDA Y 14. 5knlA T m3 100 SRR A 1
79000
A HEE BN I = 1
= # m3 100
H AL %40 m3 1

,68,




(010013-0)

2=} 1] . kN 0. bk
60534 PR T (SR 140 (S R EE))  100m33 V) Hiffiz& Ak et ooan o ok
SX1001-0000-38 5 AN R E L)
4 e H ¥ HAr | ¥ B H il & %A fii L
T0515
= 40~0m/m (% B +E) m3 120 VR B (R 8 A B 1 B
BLGHRIH 0 FTl 53, SP12150//1
HWEL +#) HEEDH Y m3 100 ISR ==
NV 583753, SP12020//11
TRy LR (- EAIRY 14T | DIDA Y 0. 5kmbL F m3 100 SRR A 1
79000
A HEE BN I = 1
= # m3 100
H AL %40 m3 1

,69,




(010013-0)

NN 2 | : iﬂ‘ k
o PR T (SR 140 (S R EE))  100m33 V) Hiffiz& N el
SX1001-0000-39 5 AN R E L)
4 e H ¥ HAr | ¥ B H il & %A fii L
T0515
= 40~0m/m (% B +E) m3 120 VR B (R 8 A B 1 B
BLGHRIH 0 FTl 53, SP12150//1
HWEL +#) HEEDH Y m3 100 ISR ==
NV 584753, SP12020//12
TRy LR (S EAIRY 14T | DIDA Y 1. OkmbL F m3 100 SRR A 1
79000
A HEE BN I = 1
= # m3 100
H AL %40 m3 1

,70,




(010013-0)

2=} 1] . Ik . bk
o PR T (SR 140 (S R EE))  100m33 V) Hiffiz& Ak | L ogan o 1ok
SX1001-0000-40 5 AN R E L)
4 e H ¥ HAr | ¥ B H il & %A fii L
T0515
= 40~0m/m (% B +E) m3 120 VR B (R 8 A B 1 B
BLGHRIH 0 FTl 53, SP12150//1
HWEL +#) HEEDH Y m3 100 ISR ==
NV 585753, SP12020//13
TRy LR (- EAIRY 1AT) | DIDA Y 1. 5kmbLF m3 100 SRR A 1
79000
A HEE BN I = 1
= # m3 100
H AL %40 m3 1

,71,




(010013-0)

2=} 1] . N 2k
o PR T (SR 140 (S R EE))  100m33 V) Hiffiz& N el
SX1001-0000-41 5 AN R E L)
4 e H ¥ HAr | ¥ B H il & %A fii L
T0515
= 40~0m/m (% B +E) m3 120 VR B (R 8 A B 1 B
BLGHRIH 0 FTl 53, SP12150//1
HWEL +#) HEEDH Y m3 100 ISR ==
NV 586753, SP12020//14
TRy LR (- EAIRY 1AT) | DIDA Y 2. 0kmbL F m3 100 SRR A 1
79000
A HEE BN I = 1
= # m3 100
BN Y D m3 1

,72,




(010013-0)

2=} 1] . N 2. bk
o PR T (SR 140 (S R EE))  100m33 V) Hiffiz& AL L oo, ol
SX1001-0000-42 5 AN R E L)
4 e H ¥ HAr | ¥ B H il & %A fii L
T0515
= 40~0m/m (% B +E) m3 120 VR B (R 8 A B 1 B
BLGHRIH 0 FTl 53, SP12150//1
HWEL +#) HEEDH Y m3 100 ISR ==
NV 58753, SP12020//15
TRy LR (S EAIRY 1AT) | DIDA Y 2. 5kmbLF m3 100 SRR A 1
79000
A HEE BN I = 1
= # m3 100
H AL %40 m3 1

,73,




(010013-0)

2=} 1] . kN 3. bk
o PR T (SR 140 (S R EE))  100m33 V) Hiffiz& Ak ML ogan 0 & ok
SX1001-0000-79 5 AN R E L)
4 e H ¥ HAr | ¥ B H il & %A fii L
T0515
= 40~0m/m (% B +E) m3 120 VR B (R 8 A B 1 B
BLGHRIH 0 FTl 53, SP12150//1
HWEL +#) HEEDH Y m3 100 ISR ==
NV 588753, SP12020//16
TRy LR (A EAIRY 1AT) | DIDA Y 3. 5kmbL F m3 100 SRR A 1
79000
A HEE BN I = 1
= # m3 100
H AL %40 m3 1

,74,




(010013-0)

2=} 1] . kN 4. bk
6653 PR T (SR 140 (S R EE))  100m33 V) Hiffiz& S S
SX1001-0000-80 5 AN R E L)
4 e H ¥ HAr | ¥ B H il & %A fii L
T0515
= 40~0m/m (% B +E) m3 120 VR B (R 8 A B 1 B
BLGHRIH 0 FTl 53, SP12150//1
HWEL +#) HEEDH Y m3 100 ISR ==
NV 589753, SP12020//17
TRy LR (- EAIRY 14T | DIDA Y 4. 5kmbL F m3 100 SRR A 1
79000
A HEE BN I = 1
= # m3 100
H AL %40 m3 1

,75,




(010013-0)

2=} 1] . N 6k
e PR T (SR 140 (S R EE))  100m33 V) Hiffiz& N el
SX1001-0000-81 5 AN R E L)
4 e H ¥ HAr | ¥ B H il & %A fii L
T0515
= 40~0m/m (% B +E) m3 120 VR B (R 8 A B 1 B
BLGHRIH 0 FTl 53, SP12150//1
HWEL +#) HEEDH Y m3 100 ISR ==
NV 590753, SP12020//18
TRy LR (- EAIRY 14T | DIDA Y 6. OkmbL F m3 100 SRR A 1
79000
A HEE BN I = 1
= # m3 100
BN Y D m3 1

,76,




(010013-0)

2=} 1] . N 8k
o PR T (SR 140 (S R EE))  100m33 V) Hiffiz& N el
SX1001-0000-47 5 AN R E L)
4 e H ¥ HAr | ¥ B H il & %A fii L
T0515
= 40~0m/m (% B +E) m3 120 VR B (R 8 A B 1 B
BLGHRIH 0 FTl 53, SP12150//1
HWEL +#) HEEDH Y m3 100 ISR ==
NV %9153, SP12020//19
TRy LR (- EAIRY 14T | DIDA Y 8. OkmbL F m3 100 SRR A 1
79000
A HEE BN I = 1
= # m3 100
BN Y D m3 1

,77,




(010013-0)

2=} 1] . Ik 0. bk
6953 PR T (SR 140 (S R EE))  100m33 V) Hiffiz& AL s oo, 0 109K
SX1001-0000-82 5 AN R E L)
4 e H ¥ HAr | ¥ B H il & %A fii L
T0515
= 40~0m/m (% B +E) m3 120 VR B (R 8 A B 1 B
BLGHRIH 0 FTl 53, SP12150//1
HWEL +#) HEEDH Y m3 100 ISR ==
NV 59253, SP12020//22
TRSER T (A EARY £8T) | DIDA Y 10. 5knld T m3 100 SRR A 1
79000
A HEE BN I = 1
= # m3 100
H AL %40 m3 1

,78,




(010013-0)

2=} 1] . Ik 4.5k
7053 PR T (SR 140 (S R EE))  100m33 V) Hiffiz& AL | s oo, 1ok
SX1001-0000-83 5 AN R E L)
4 e H ¥ HAr | ¥ B H il & %A fii L
T0515
= 40~0m/m (% B +E) m3 120 VR B (R 8 A B 1 B
BLGHRIH 0 FTl 53, SP12150//1
HWEL +#) HEEDH Y m3 100 ISR ==
NV 593753, SP12020//20
TRYSER T (A EARY +8T) | DIDA Y 14. 5knlA T m3 100 SRR A 1
79000
A HEE BN I = 1
= # m3 100
H AL %40 m3 1

,79,




— \ N[/ NN /2 2 > : %i
B 3[:%)7:% L/ j:ﬁ& 1m3J:_l @ E‘ﬁﬁ% it % ;ﬁ%ﬁg@
SP12150-0000-01
(AN # % 5 21 A, KRk b | X OB & B H, ¥ S YE M
K
0. 32
Kl
BN B EE/60~80ke 0. 32 QT4674|[ FEAEHAR] Fv 1 L/ 60~80ke MT4674
R
99. 39
R1
EEEER 88. 16 U0200 |[FEE¥EHLN ] EEIEEE R0200
R2
FPREEER 11.23 U0100 |[JEHER ] Rk EXE R R0100
Z
0. 29
71
NIV /X2 T — 0.29 70700 |[JEHEEAMIN ) //VvE 27- (v L) T0700
= &t
L A=)
IR

it .51 =06 : BLGHl#I & v

i [] 8D D A7 HE =01 < 5 [ 6D A7V

,80,




R AN

VAR V(HLH NE] A Mz B & X :DIDEEL 0.5kmPA T
T TREER T AR EARY T50) mdEVEME % ™
SP12020-0000-01
(AN # % 5 21 A, KRk b | X OB & B H, ¥ Jk e B {f
K
20. 68
K1
b7 by s RN A=t 7T 2 t R 20. 68 Q0400 |[ZEHERR]Y /7 My sk Ae-b 7 -t 2t Bk M0400/5
R
70. 43
R1
EHL T (— %) 70. 43 U1500 |[FE¥E Hflf ] iEds T (—%) R1500
Z
8. 89
71
/1. 2% 8. 89 JO710 |[FEVEHAM 82/ be—ia il T0710
= i
AL Y4 D
e N i
TR A B =03 BUGHIK & Y FEIARSFE - S =07: AT
TE=01: LW CEIL- EAIRD L5T) DIDX DA ME=01:DIDME L
TEMREREE=02:0. 5kmPd T

,81,




R AN

VAR V(HLH NE] A Mz B % X :DIDEEL 1.5kmPAF
e TREER T AR EARY T50) mdEVEME % k™
SP12020-0000-02
(AN # % 5 21 A, KRk b | X OB & B H, ¥ Jk e B {f
K
20. 68
K1
b7 by s RN A=t 7T 2 t R 20. 68 Q0400 |[ZEHERR]Y /7 My sk Ae-b 7 -t 2t Bk M0400/5
R
70. 43
R1
EHL T (— %) 70. 43 U1500 |[FE¥E Hflf ] iEds T (—%) R1500
Z
8. 89
71
/1. 2% 8. 89 JO710 |[FEVEHAM 82/ be—ia il T0710
= i
AL Y4 D
e N i
TR A B =03 BUGHIK & Y FEIARSFE - S =07: AT
TE=01: LW CEIL- EAIRD L5T) DIDX DA ME=01:DIDME L
TEMREREE=04:1. bkmLd T

,82,




R AN

VAR V(HLH NE] A Mz B B X :DIDEEL 2. 0kmPA T
BTaRE TREER T AR EARY T50) m3EVEME § % sk
SP12020-0000-03
(AN # % 5 21 A, KRk b | X OB & B H, ¥ Jk e B {f
K
20. 68
K1
b7 by s RN A=t 7T 2 t R 20. 68 Q0400 |[ZEHERR]Y /7 My sk Ae-b 7 -t 2t Bk M0400/5
R
70. 43
R1
EHL T (— %) 70. 43 U1500 |[FE¥E Hflf ] iEds T (—%) R1500
Z
8. 89
71
/1. 2% 8. 89 JO710 |[FEVEHAM 82/ be—ia il T0710
= i
AL Y4 D
e N i
TR A B =03 BUGHIK & Y FEIARSFE - S =07: AT
TE=01: LW CEIL- EAIRD L5T) DIDX DA ME=01:DIDME L
TEMREEEE=05:2. OkmLA

,83,




R AN

VAR V(HLH NE] A Mz B B X :DIDEEL 2.5kmPA T
P TREER T AR EARY T50) mEVEME § 2 s
SP12020-0000-04
(AN # % 5 21 A, KRk b | X OB & B H, ¥ Jk e B {f
K
20. 68
K1
b7 by s RN A=t 7T 2 t R 20. 68 Q0400 |[ZEHERR]Y /7 My sk Ae-b 7 -t 2t Bk M0400/5
R
70. 43
R1
EHL T (— %) 70. 43 U1500 |[FE¥E Hflf ] iEds T (—%) R1500
Z
8. 89
71
/1. 2% 8. 89 JO710 |[FEVEHAM 82/ be—ia il T0710
= i
AL Y4 D
e N i
TR A B =03 BUGHIK & Y FEIARSFE - S =07: AT
TE=01: LW CEIL- EAIRD L5T) DIDX DA ME=01:DIDME L
TEMRERRE=26:2. 5kmPd T

,84,




R AN

VAR V(HLH NE] A Mz B & A :DIDEEL 3.0kmPA T
P TREER T AR EARY T50) mdEVEME § 2 R
SP12020-0000-21
(AN # % 5 21 A, KRk b | X OB & B H, ¥ Jk e B {f
K
20. 68
K1
b7 by s RN A=t 7T 2 t R 20. 68 Q0400 |[ZEHERR]Y /7 My sk Ae-b 7 -t 2t Bk M0400/5
R
70. 43
R1
EHL T (— %) 70. 43 U1500 |[FE¥E Hflf ] iEds T (—%) R1500
Z
8. 89
71
/1. 2% 8. 89 JO710 |[FEVEHAM 82/ be—ia il T0710
= i
AL Y4 D
e N i
TR A B =03 BUGHIK & Y FEIARSFE - S =07: AT
TE=01: LW CEIL- EAIRD L5T) DIDX DA ME=01:DIDME L
TEMREREE=06:3. OkmLd

,85,




R AN

VAR V(HLH NE] A Mz B B X :DIDEEL 4. 0kmPA T
BT R TREER TR EARY T50) mdEVEME § % Rk’
SP12020-0000-05
(AN # % 5 21 A, KRk b | X OB & B H, ¥ Jk e B {f
K
20. 68
K1
b7 by s RN A=t 7T 2 t R 20. 68 Q0400 |[ZEHERR]Y /7 My sk Ae-b 7 -t 2t Bk M0400/5
R
70. 43
R1
EHL T (— %) 70. 43 U1500 |[FE¥E Hflf ] iEds T (—%) R1500
Z
8. 89
71
/1. 2% 8. 89 JO710 |[FEVEHAM 82/ be—ia il T0710
= i
AL Y4 D
e N i
TR A B =03 BUGHIK & Y FEIARSFE - S =07: AT
TE=01: LW CEIL- EAIRD L5T) DIDX DA ME=01:DIDME L
TEMREREE=07:4. OkmLA T

,86,




R AN

VAR V(HLH NE] A Mz B % X :DIDMEL 5.0kmPA T
e TREER T AR EARY T50) mdEVEME 2 R’
SP12020-0000-06
(AN # % 5 21 A, KRk b | X OB & B H, ¥ Jk e B {f
K
20. 68
K1
b7 by s RN A=t 7T 2 t R 20. 68 Q0400 |[ZEHERR]Y /7 My sk Ae-b 7 -t 2t Bk M0400/5
R
70. 43
R1
EHL T (— %) 70. 43 U1500 |[FE¥E Hflf ] iEds T (—%) R1500
Z
8. 89
71
/1. 2% 8. 89 JO710 |[FEVEHAM 82/ be—ia il T0710
= i
AL Y4 D
e N i
TR A B =03 BUGHIK & Y FEIARSFE - S =07: AT
TE=01: LW CEIL- EAIRD L5T) DIDX DA ME=01:DIDME L
TEMREREE=18:5. OkmLA

,87,




R AN

VAR V(HLH NE] A Mz B % X :DIDEEL 6.5kmPA T
HToR% TREER T AR EARY T50) mdEVEME § % R
SP12020-0000-07
(AN # % 5 21 A, KRk b | X OB & B H, ¥ Jk e B {f
K
20. 68
K1
b7 by s RN A=t 7T 2 t R 20. 68 Q0400 |[ZEHERR]Y /7 My sk Ae-b 7 -t 2t Bk M0400/5
R
70. 43
R1
EHL T (— %) 70. 43 U1500 |[FE¥E Hflf ] iEds T (—%) R1500
Z
8. 89
71
/1. 2% 8. 89 JO710 |[FEVEHAM 82/ be—ia il T0710
= i
AL Y4 D
e N i
TR A B =03 BUGHIK & Y FEIARSFE - S =07: AT
TE=01: LW CEIL- EAIRD L5T) DIDX DA ME=01:DIDME L
TEMREREE=09:6. bkmLd T

,88,




R AN

VAR V(HLH NE] A Mz B % X :DIDMEL 8.5kmPA T
80 R TREER TR EARY T50) mEVEME § 2 ™
SP12020-0000-08
(AN # % 5 21 A, KRk b | X OB & B H, ¥ Jk e B {f
K
20. 68
K1
b7 by s RN A=t 7T 2 t R 20. 68 Q0400 |[ZEHERR]Y /7 My sk Ae-b 7 -t 2t Bk M0400/5
R
70. 43
R1
EHL T (— %) 70. 43 U1500 |[FE¥E Hflf ] iEds T (—%) R1500
Z
8. 89
71
/1. 2% 8. 89 JO710 |[FEVEHAM 82/ be—ia il T0710
= i
AL Y4 D
e N i
TR A B =03 BUGHIK & Y FEIARSFE - S =07: AT
TE=01: LW CEIL- EAIRD L5T) DIDX DA ME=01:DIDME L
TEMREREE=21:8. bkmLA T

,89,




FE B AN
VAR L v (b, N=| AN N & = :DID#EL 11.0kmLA T
ERI= JL_@?T‘JEEX j:@ (E% EE&B@ j:ﬁ@) 1m3él J Q‘Jﬂﬂ% 1% % IR LY "
SP12020-0000-09
(AN # % 5 21 A, KRk b | X OB & B H, ¥ Jk e B {f
K
20. 68
Kl
b7 by s RN A=t 7T 2 t R 20. 68 Q0400 |[ZEHERR]Y /7 My sk Ae-b 7 -t 2t Bk M0400/5
R
70. 43
R1
EHL T (— %) 70. 43 U1500 |[FE¥E Hflf ] iEds T (—%) R1500
Z
8. 89
71
/1. 2% 8. 89 JO710 |[FEVEHAM 82/ be—ia il T0710
= B
AL Y4 D
BRIR S
TR A B =03 BUGHIK & Y FEIARSFE - S =07: AT

+E=01: W CEI- EAIRY £ET)
TEMEIEEE=22:11. OkmPA

DII

XEDOAHE=01:DIDEE L

,90,




FE B AN
VAR L v (b, N=| AN N & = : DID#EL 16. 0OkmLL T
T THEER LR -EAREY 1230) mdYVEME 2 e ™
SP12020-0000-10
(AN # % 5 21 A, KRk b | X OB & B H, ¥ Jk e B {f
K
20. 68
Kl
b7 by s RN A=t 7T 2 t R 20. 68 Q0400 |[ZEHERR]Y /7 My sk Ae-b 7 -t 2t Bk M0400/5
R
70. 43
R1
EHL T (— %) 70. 43 U1500 |[FE¥E Hflf ] iEds T (—%) R1500
Z
8. 89
71
/1. 2% 8. 89 JO710 |[FEVEHAM 82/ be—ia il T0710
= B
AL Y4 D
BRIR S
TR A B =03 BUGHIK & Y FEIARSFE - S =07: AT

+E=01: W CEI- EAIRY £ET)
TEMEIEEE=44:16. 0OkmLA

DII

XEDOAHE=01:DIDEE L

,91,




Rl AN

VAR L v (b, N=| AN N & & :DIDAY 0.5kmEA T
T TREER T AR EARY T50) mdEVEME § % ™
SP12020-0000-11
(AN # % 5 21 A, KRk b | X OB & B H, ¥ Jk e B {f
K
20. 68
Kl
b7 by s RN A=t 7T 2 t R 20. 68 Q0400 |[ZEHERR]Y /7 My sk Ae-b 7 -t 2t Bk M0400/5
R
70. 43
R1
EHL T (— %) 70. 43 U1500 |[FE¥E Hflf ] iEds T (—%) R1500
Z
8. 89
71
/1. 2% 8. 89 JO710 |[FEVEHAM 82/ be—ia il T0710
= B
AL Y4 D
BRIR S
TR A B =03 BUGHIK & Y FEIARSFE - IS =07: AT
+E=01:EWCEH- EAIRY £&5Te) DIDX DA ME=02:DIDA
TEMREREE=02:0. 5kmPd T

,92,




Rl AN

VAR L v (b, N=| AN N & & :DIDAYV 1.0kmPA T
P TREER T AR EARY T50) mdEVEME § % Rk’
SP12020-0000-12
(AN # % 5 21 A, KRk b | X OB & B H, ¥ Jk e B {f
K
20. 68
Kl
b7 by s RN A=t 7T 2 t R 20. 68 Q0400 |[ZEHERR]Y /7 My sk Ae-b 7 -t 2t Bk M0400/5
R
70. 43
R1
EHL T (— %) 70. 43 U1500 |[FE¥E Hflf ] iEds T (—%) R1500
Z
8. 89
71
/1. 2% 8. 89 JO710 |[FEVEHAM 82/ be—ia il T0710
= B
AL Y4 D
BRIR S
TR A B =03 BUGHIK & Y FEIARSFE - IS =07: AT
+E=01:EWCEH- EAIRY £&5Te) DIDX DA ME=02:DIDA
TEMREEEE=03:1. OkmLA

,93,




Rl AN

VAR L v (b, N=| AN N & & :DIDAY 1.5kmPA T
P TREER T AR EARY T50) mdEVEME § % ™
SP12020-0000-13
(AN # % 5 21 A, KRk b | X OB & B H, ¥ Jk e B {f
K
20. 68
Kl
b7 by s RN A=t 7T 2 t R 20. 68 Q0400 |[ZEHERR]Y /7 My sk Ae-b 7 -t 2t Bk M0400/5
R
70. 43
R1
EHL T (— %) 70. 43 U1500 |[FE¥E Hflf ] iEds T (—%) R1500
Z
8. 89
71
/1. 2% 8. 89 JO710 |[FEVEHAM 82/ be—ia il T0710
= B
AL Y4 D
BRIR S
TR A B =03 BUGHIK & Y FEIARSFE - IS =07: AT
+E=01:EWCEH- EAIRY £&5Te) DIDX DA ME=02:DIDA
TEMREREE=04:1. bkmLd T

,94,




Rl AN

VAR L v (b, N=| AN N & & :DIDAYV 2.0kmPA T
P TREER T AR EARY T50) mdEVEME § % Rk
SP12020-0000-14
(AN # % 5 21 A, KRk b | X OB & B H, ¥ Jk e B {f
K
20. 68
Kl
b7 by s RN A=t 7T 2 t R 20. 68 Q0400 |[ZEHERR]Y /7 My sk Ae-b 7 -t 2t Bk M0400/5
R
70. 43
R1
EHL T (— %) 70. 43 U1500 |[FE¥E Hflf ] iEds T (—%) R1500
Z
8. 89
71
/1. 2% 8. 89 JO710 |[FEVEHAM 82/ be—ia il T0710
= B
AL Y4 D
BRIR S
TR A B =03 BUGHIK & Y FEIARSFE - IS =07: AT
+E=01:EWCEH- EAIRY £&5Te) DIDX DA ME=02:DIDA
TEMREEEE=05:2. OkmLA

,95,




Rl AN

VAR L v (b, N=| AN N & & :DIDAYV 2.5kmPA T
8T R TREER T AR EARY T50) mdEVEME § % s
SP12020-0000-15
(AN # % 5 21 A, KRk b | X OB & B H, ¥ Jk e B {f
K
20. 68
Kl
b7 by s RN A=t 7T 2 t R 20. 68 Q0400 |[ZEHERR]Y /7 My sk Ae-b 7 -t 2t Bk M0400/5
R
70. 43
R1
EHL T (— %) 70. 43 U1500 |[FE¥E Hflf ] iEds T (—%) R1500
Z
8. 89
71
/1. 2% 8. 89 JO710 |[FEVEHAM 82/ be—ia il T0710
= B
AL Y4 D
BRIR S
TR A B =03 BUGHIK & Y FEIARSFE - IS =07: AT
+E=01:EWCEH- EAIRY £&5Te) DIDX DA ME=02:DIDA
TEMRERRE=26:2. 5kmPd T

,96,




Rl AN

VAR L v (b, N=| AN N & & :DIDAY 3.5kmPA T
s Rk TREER T AR EARY T50) mdEVEME § % ™
SP12020-0000-16
(AN # % 5 21 A, KRk b | X OB & B H, ¥ Jk e B {f
K
20. 68
Kl
b7 by s RN A=t 7T 2 t R 20. 68 Q0400 |[ZEHERR]Y /7 My sk Ae-b 7 -t 2t Bk M0400/5
R
70. 43
R1
EHL T (— %) 70. 43 U1500 |[FE¥E Hflf ] iEds T (—%) R1500
Z
8. 89
71
/1. 2% 8. 89 JO710 |[FEVEHAM 82/ be—ia il T0710
= B
AL Y4 D
BRIR S
TR A B =03 BUGHIK & Y FEIARSFE - IS =07: AT
+E=01:EWCEH- EAIRY £&5Te) DIDX DA ME=02:DIDA
TEMREREE=17:3. bkmPA

,97,




Rl AN

VAR L v (b, N=| AN N & & :DIDAY 4.5kmPA T
89 Rk TREER T AR EARY T50) mdEVEME § % k™
SP12020-0000-17
(AN # % 5 21 A, KRk b | X OB & B H, ¥ Jk e B {f
K
20. 68
Kl
b7 by s RN A=t 7T 2 t R 20. 68 Q0400 |[ZEHERR]Y /7 My sk Ae-b 7 -t 2t Bk M0400/5
R
70. 43
R1
EHL T (— %) 70. 43 U1500 |[FE¥E Hflf ] iEds T (—%) R1500
Z
8. 89
71
/1. 2% 8. 89 JO710 |[FEVEHAM 82/ be—ia il T0710
= B
AL Y4 D
BRIR S
TR A B =03 BUGHIK & Y FEIARSFE - IS =07: AT
+E=01:EWCEH- EAIRY £&5Te) DIDX DA ME=02:DIDA
TEMREREE=27 4. SkmPA T

,98,




Rl AN

VAR L v (b, N=| AN N & & :DIDAY 6.0kmEA T
o0 Rk TREER T AR EARY T50) mdEVEME § % e
SP12020-0000-18
(AN # % 5 21 A, KRk b | X OB & B H, ¥ Jk e B {f
K
20. 68
Kl
b7 by s RN A=t 7T 2 t R 20. 68 Q0400 |[ZEHERR]Y /7 My sk Ae-b 7 -t 2t Bk M0400/5
R
70. 43
R1
EHL T (— %) 70. 43 U1500 |[FE¥E Hflf ] iEds T (—%) R1500
Z
8. 89
71
/1. 2% 8. 89 JO710 |[FEVEHAM 82/ be—ia il T0710
= B
AL Y4 D
BRIR S
TR A B =03 BUGHIK & Y FEIARSFE - IS =07: AT
+E=01:EWCEH- EAIRY £&5Te) DIDX DA ME=02:DIDA
TEMREERE=19:6. OkmLA

,99,




Rl AN

VAR L V(L N=| AN 2 B4 & & :DIDAY 8.0kmLA T
ol JL_@?T‘JEEX j:@ (E% EE&B@ j:ﬁ@) 1m3él J Q‘Jﬂﬂ% 1% % IR e "
SP12020-0000-19
(AN # % 5 1 . KRk b | X OB & B H, ¥ Jk e B {f
K
20. 68
Kl
b7 by s RN A=t 7T 2 t R 20. 68 Q0400 |[ZEHERR]Y /7 My sk Ae-b 7 -t 2t Bk M0400/5
R
70. 43
R1
EHL T (— %) 70. 43 U1500 |[FE¥E Hflf ] iEds T (—%) R1500
Z
8. 89
71
/1. 2% 8. 89 JO710 |[FEVEHAM 82/ be—ia il T0710
= B
AL Y4 D
BRIR S
TR A B =03 BUGHIK & Y FEIARSFE - IS =07: AT
+E=01:EWCEH- EAIRY £&5Te) DIDX DA ME=02:DIDA
TEMREREE=233:8. OkmLA

- 100 -



FE B o AN
VAR L v (b, N=| AN 2 B4 & & :DIDA Y 10.5kmPA T
I THEER TR EARY 130 W3SV EMR & b ™
SP12020-0000-22
(AN # % 5 1 . KRk b | X OB & B H, ¥ Jk e B {f
K
20. 68
Kl
b7 by s RN A=t 7T 2 t R 20. 68 Q0400 |[ZEHERR]Y /7 My sk Ae-b 7 -t 2t Bk M0400/5
R
70. 43
R1
EHL T (— %) 70. 43 U1500 |[FE¥E Hflf ] iEds T (—%) R1500
Z
8. 89
71
/1. 2% 8. 89 JO710 |[FEVEHAM 82/ be—ia il T0710
= B
AL Y4 D
BRIR S

TS A H Y =03 IR & V)

Fi

AETE - JHFE =07: A J)

+E=01: W CEI- EAIRY £ET)
TEME I EE=43:10. bkmPd

DII

XHOHFE=02:DIDA Y

- 101




FE B o AN
VAR L v (b, N=| AN 2 B4 & & :DIDA Y 14.5kmPA T
o THEER TR EARY 130 W3SV EMR § % i ™
SP12020-0000-20
(AN # % 5 1 . KRk b | X OB & B H, ¥ Jk e B {f
K
20. 68
Kl
b7 by s RN A=t 7T 2 t R 20. 68 Q0400 |[ZEHERR]Y /7 My sk Ae-b 7 -t 2t Bk M0400/5
R
70. 43
R1
EHL T (— %) 70. 43 U1500 |[FE¥E Hflf ] iEds T (—%) R1500
Z
8. 89
71
/1. 2% 8. 89 JO710 |[FEVEHAM 82/ be—ia il T0710
= B
AL Y4 D
BRIR S

TS A H Y =03 IR & V)

Fi

AETE - JHFE =07: A J)

+E=01: W CEI- EAIRY £ET)
TEME IR EE =461 14. bkmPA T

DII

XHOHFE=02:DIDA Y

- 102




